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olmg
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B C

Hearae ABCDO| B A D& ©]oH
AABD €} ACDB ]| 4]

AB=CD Q)

AD=[ _|.-©

BDE 5 ©

@ ©, @ 2JsllAl AABD = ACDB (SSS 35)

A=/, /B=[ ]---©

® CB, «C @ BD, /C ® AB, /D
@ CD, /D ®)CB, /D
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21. th2 1389 nABCD = AD //BC ¢l S¥Ata]EZolth, AH = 9cm,
AD = 1lecm , CH = 14cm € @, DABCD 2] Y o] & F#5}ofg},

_-1lemo _

BH =HC-AD = 14 - 11 = 3(cm)
BC=3+14=17(cm)

(o) = (11 + 17) x 9 x % = 126(cm?)
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th2 13L& gABCD ] H BC 9] 4A
2ol AC // DE 7} 94 A E & & Aot
OABCD 9] H°]7} 30cm? ¥ W], AABE 9]

Hol=?
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@D 15em? @ 20cm? @ 25cm?
@30 cm? ® 60cm?

~&B

AC //DE ©]2& AACD = AACE ©]t}.
AABE = AABC + AACE

= AABC + AACD

= oABCD

. AABE = 30( cm?)




25. thS 197} Zo] AD//BC 91 Altha]lE ABCD oA OA : OC =1: 2
olt}. AAOD = 48cm? ¥ wj, DABCD 2] Ho]=?

A D
(9)
B C
@432cm2 @ 480cm? @ 562cm?
@ 600cm? ® 642cm?

S5 \
AAOD : ACOD =1:2 0|22

48 : ACOD =1:2 .. ACOD = 96 cm?

ojmj AABD = AACD ©|E&

AABO = ACOD = 96 cm?

E AABO:ACOB=1:29°]E=2

96 : ACOB=1:2 .. ACOB = 192 cm?

. OABCD = 48 + 96 + 96 + 192 = 432( cm?)




